1
2
3
4
5
6
7
8
9

28
{1}

{2}
{3
{4}

1102-0083
1202-1286
1350-0113
1302-4001
1302-5045
1401-0814
1401-1012
1401-2028
1401-2030
1420-1628
1460-0001
1475-2400
1476-0800
1476-1000
1476-1600
1477-1601
1477-2005
1487-2000
1488-1601
1500-0070
1500-0253
2551-0101

{1}

{2}

{3}
2991-0024
2991-0026

{4}

2551-7501
2551-7503
2551-7502
2551-7504
2551-7506
2551-7507
2993-3009
2993-3010
2993-3011

SPRING-AIR ... 2
SHOCKABSORBER ............. ... .. ....... 2
ASSEMBLY-HEIGHT CONTROL VALVE . .......... 1

RUN TEE, 1/4 TB 1/8 M-NPT,DOT .............. 1
CONNECTOR, 1/4 TB 1/8 M-NPT, PUSH-IN DOT .. .2
1/4 X 1 3/4 UNC HEX CAP SCREW (GRADE 5) . 2
5/16 X 1 1/2 UNC HEX CAP SCREW (GRADE 5) 2
5/8 X 3 1/2 UNC HEX CAP SCREW (GRADE 5) 2
5/8 X 3 3/4 UNC HEX CAP SCREW (GRADE 5) .2
1/2 X 3 1/2 UNF SOC FLAT CSK HD CAP SCREW . .1
.50 X 5.00 UNC SS BOLT-CHAMFERED .......... 1
3/4UNFJAMNUT ... ... . . 2
1/4 UNC HEX CENTER LOCK NUT (GRADE B) 2
5/16 UNC HEX CENTER LOCK NUT (GRADE B) .. .2
1/2 UNC HEX CENTER LOCK NUT (GRADE B) ... .1
1/2 UNF HEX TOP LOCK NUT (GRADEC) ........ 1
5/8 UNF HEX TOP LOCK NUT (GRADE B) 4
5/8 TYPE APLAIN WASHER ... ................ 4
1/2 SS SAE PLAINWASHER ................... 2
BUMPER-JOUNCE, 1.75 ......... ... ... ........ 2
LINKAGE-VALVE, HEIGHT CONTROL (4.88) ....... 1
AIR SPRING UPPER PLATE ................... 2
BRACKET-MOUNT 1
BRACKET-MOUNT 1
BRACKET-MOUNT, CONTROLROD ............. 1
PIVOT BALLKIT . ... ... .. . . . . ... 1
KIT-PIVOT BALL 1
LATERALCONTROLROD ..................... 1
For frames with 12 mm fasteners

For frames with 16 mm fasteners

For frames with 12 mm fasteners

For frames with 16 mm fasteners

For frames with 12 mm fasteners

For frames with 16 mm fasteners

For trucks with no frame inserts (5/16 or 3/8 frames)
For trucks with frame inserts (1/4 insert)

For trucks with double frame inserts (1/4 and 3/8 insert)

CABMATE MODEL
KWCSA 07-09

2551-R000

KW 86” Aerocabs
w/ no frame inserts (6/16 or 3/8 frames)

2551-T000
KW 86” Aerocabs
w/ single frame inserts (1/4 insert)

2551-U000
KW 86” Aerocabs w/
double frame inserts (1/4 or 3/8 inserts)

2551-AA00
Same as KWCSA-07,
for use w/ 16mm frame mount fasteners

2551-AB00
Same as KWCSA-08,
for use w/ 16mm frame mount fasteners

2551-AC00
Same as KWCSA-09,
for use w/ 16mm frame mount fasteners

2991-0031

Component package
for all 86” Aerocabs

%

DESIGN HEIGHT
51/2 inches

%




